
Which model can be selected if user is involved in all the phases of SDLC? 

a) Waterfall Model 

b) Prototyping Model 

c) RAD Model 

d) both Prototyping Model & RAD Model 

Answer: b) 

 

The spiral model has two dimensions namely _____________ and 

____________ 

a) diagonal, angular 

b) radial, perpendicular 

c) radial, angular 

d) diagonal, perpendicular 

Answer: c)  

 

Which is the first step in the software development life cycle ? 
a) Analysis 
b) Design 
c) Problem/Opportunity Identification 
d) Development and Documentation 

Answer: c 

The user system requirements are the parts of which document ? 

a) SDD 

b) SRS 

c) DDD 

d)SRD 

Answer: b 

 

In XP Increments are delivered to customers every _______ weeks. 
a) One 
b) Two 
c) Three 
d) Four 
 

Answer: b 



 


